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woé% Soggen

p 2=(39).27(26) 40087, R 050
Solution : -
Given z, =3+5i z,=2+6i
z,—2,=(3+5i)(2+6i) =6+28°C +30i” =6-30 + 28

z,.2,=-24+28 =(-24,28)
2. (-6,5)+(10,-4) & J0%0d IS Srod F7,0004.

3. 2z=(6,-3),z=(2-)®ondz/z, EONFBOS0

Solution : -
z=6+3 z,=2-i
z _6+3 _(6+3)(2+i)W8+12+3°
z, z-i 4-i? 5
12. 12
1+—i=|1]—
5 (l 5)

4. z:cose+isin¢9e900.)éz—% 1 Va3 )

Solution:: -

. R 1 cosfd—-ising
z=cos@+isn@ == —— X —
Zz cos@+isngd cosfd-isné@

Zz—-==2isin@
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5. (i) (34) (i) (sind,cosf) (i) (7, 24)

(iv(-21) & Boeased IS’ S0
0006

Solution : -

(i) Lz=3+4i

doease D R0=-t =S4
3+4i (3+4i)(3-3)
_3-4 :(i —_4j
25 (25'25
(i) z=sin@+i cosd
oersd IS0z _ ané’—fcose
sin@ +1cosd (sind—icosb)
=w =singd -icosd
sin© @ + cos” @
4-2i o
6. ﬁg)aﬂbéswoés a:‘)c)‘jood
-2
Solution: -
Let 4_2.|=a+ib
1-2i
4-2i)(1+2i T
w=a+ib:>a+ib:4+6'—_24I
(1-2)(1+2) 1 4

odpip=3798 _ -8 -5
5 5
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7. a:cosa+isina'b=cos,8+isinﬁeaooaé%(ab+$j LA [

Solution : -
ab=(cosa +isina)(cosB +isin B)
=cosacosfB+isnBcosa +isna cosfB+i’sinasnfB
=(cosacosB+sinasinB) +i(sinacospB +cosa sin B)
ab=(cosa+ B) +isin(a + B)

a cos(a+ﬁ)—i$iﬂ(0’+,3)
ab {cos(a + B)+isin(a + B)}{cos(a + B) -sin(a + B)}

%=cos(a +B) —isin(a +p)

2

l(ab+%J=%[cos(a+ﬂ)+i§iﬁ(a+ﬁ)+003(a+:3)‘wﬁ(a+'3)]

=cos(a + )

8. 3+ 4 o':boéb :)q éa?er"DQ S VAR VR

Solution : -

\/mzxﬂy

35> pPor Io Sasone
3+4i=xX +i%y* + 2ixy
3+ 4i =(x2—y2)+i(2xy)

X*-y? =3:2xy=4

32+ yP= \/(Xz _ yz) + 452y

=/9+16 =>X*+y*=5: X -y’ -y*=3
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y'=y=>y=+1

J3+4i =+ (2+i)

9.  z=3-5®0Nd ® Z -107 +582-136=0e9JS5° )50
2 =(3-51)’=3 -(5)-3(3) (5)(3-5i)
= 27 +125i - 135 — 225=-198 - 10
2*(3-51)° =9+ 25 — 30i = -16- 30i
LH.S =Z°-10Z° +582-136
=-198-10i - 10{ -16 - 30i} + 58{3 - 5i} —136
334 -334+10i —10i =0=RHS
3

10.  x+iy= ——— @00@ X + Y = 4x - 39357 H) 30
2+cosf@+isin@

3{2+ cosf.~isinG} _ 3{2+ cosf -sin 6}
g = X+iy = . _—
(2#¢cos@)” - (isinb) 4+ cos’ @+ 4cos@ +sin” 6

Solution : - X+iy=

3{2+cosd -isinG}
5+4cosd

Ox+iy=

_3(2+cosf) _ -3sing
5+ 4cosé 5+ 4cosé

, o, [3(2+cos8)]” [ -3sing |’
LHS X° + y°= +
5+ 4cos@ 5+ 4cos@
_ 9{4+ cos’ @ + 4cos@ + sin® 9}
(5+ 4cosb)’

www.sakshieducation.com



www.sakshieducation.com

9{ 5+ SH} 9

(5+4cosg)” 5+ 4cosé

12(2+ cosb) as 24+ 12cos8 -15- 12050

RHS 4x 3=
5+ 4cosé@ 5+ 4cosé
RHS=—— 2
5+ 4cosé@
0 LHS=RHS
11, 2_f 2,_2_111, Q0 BOASVMTY0 8 B3YHSw
(1-2i)" 25
Solution : -
a+ib+ 2-1 _ 2-i

(1-2i)° 1+ 4i%- 4

_ 2-i  -3+4i _-6+8+3 - 4i°

T 3-4i -3+4i  9-16i?
a+ip=_2"11
25
—2+10 oBooéb éooésoﬁ&o —2- 1
25
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12§08 370 [Io°d 305570 BordoS T,05006.
() 1-i (i) 1+i/3  (iii) —/3+i (iv) -1-i/3
Solution : -

(ii)

(iii)

1-i=r{cosd+isind}
rcosd=1rsind=-1
(rcosf)” +(rsing)’=2=r=42
cos«9=i snf=-—

Np Np
Principal value of @ =77/4 {--m<@<r}
Dl—i=x/§{cosi—(gj+isin(—ﬂ/4)}
1+iv/3=r{cos@ +isin6}
Orcosf=1 rsind=/3
(rcosé?)z+(rsin6?)2:1+(\f3)2

r’=4=r=2

cosﬁzisiné’:ﬁ
2 2
O Principal ‘value of 8 =]—?;[

D1+i\/§=2{cos7—;+isinﬂ/3}

~J3+i=r{cos@+isiné}
rcosd=-+3 rsnf=1

(rcosB)Z(rsinH)2=3+1:>r =2
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cost—@ sin@

N

O Principal value of 8= %T

O —x/§+i =2{cos%7+isin%ﬂ}

vy  -1-iv3=r{cosf+isiné}
rcosg=-1 rsin8=—f3

(rcosf)” +(rsing)’ =(-1)° +(—«/§)2 =>ri=4=r=2

N | &

cosH:—%;sinéh—

Prove of 8 =-277/3
O0-1-iV/3= 2{005(—%) +i sin(—z?ﬂj}

130 -2(3+i)(2+41)(1+1)Q B§E00N IS0 XM HHH
Solution : -

-2i{3+i}(2+4i) (1+i)=-2(3 +i){2+2i +4i + 47}

=-2i (3+i)(-2+6i)=-2i{-6+18 -2 -6}

== 2i{-12+16i} = 24i - 32i* =32+ 24i

182 +24i1=,((32)" +(24)° = /1024 + 576 = 40
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14. z#20@ONBArgz+Argz ST
If Arg z=48 then Argz =-6

OArgz+ Argz=6-6=0

15  z=-1and z=-i®0NB Arg(z z,) 0050
Solution: -

z=-1 = Argz, =77 {" ~1=cosr+isin7}

z,=-i = Argz,=- 1/ 2{- i =cos- 1/ 2 +sin(-7/ 2)}

Arg(z z)=Argz + Argz,= -1/ 2=11/ 2

16 z=-1:2,=i @00 Arg(%J SR 0B0

Solution : - Argz, = 77 {*- —~1=cosr+1sin7g

Argz,=m/2 {-i=cosm/2+isinrml2}

Arg(ﬁJ =Argz - Argzy=7r—- 1l 2=/ 2
z,

17. "wé&ﬁ@oi’) NUMMIGVORVIESMR U

(2+4i)(-1+2) i (1+i)’

(-1-i)(3-1) (2+i)(1+2i)

(2+4i)(-1+2i)) _-2+4i-4i-8
(-1-i)(3-i)  -3+i-3i +i?

-5 5  5(2-i) _ B(2-i)

To4-2 2+ (2+i)(2-1) B

Solution:
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2+4| 1+2| |

nh |12-i]=+/5
(i (1+i)*  _1+i%+3i(1+i) _1-i+3 -3
(2+i)(1+2i))  2+5i+2i2 = 5

_—2+2i 5| _ —10i +10i2
5i 5| 25i2

~10-10i _2+2
25 5
(1+i)°

_[4,4_ 202
25 25 5

18.  (1-i)(2-1)(3=i)w(l-ni) =x=iy @00 2,5710
LCEINGLPO)PIMY

(2+i)(1+2)|

Solution: -

(1-i)(2=1)(3=1)......(1—ni) = x—iy
(1=1)(2=1)(3 =) (17Mi)| 53 + y?
V2 B A0\l 2 2+ y?
3% Yo SB0 Vs

251051+ 1) =x* +y?
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19 Zlqwg), 85 o1 wond 2 Hodd $S0 SR D0

Z+i
Solution: - Z=Xx+1iy
Re{x+?y+1}=1:> Re{(x+1)+iy}{x—i2(y+1)} =1
X+iy+1 x* +(y+1)

PN ol

x(x +1)-i%y(y+1) 1
X2 +(y+1)°

)({+x+/y{+y:)/+)/+2y+1:>x—y:1

20 If z=x+iy and |z|=1e9003z D0 B0 EOFN DB

Solution : -
|z|=1=|x+iy|=1={x* + y*=1
38> Hor 3o oS X¥+y =1

21 (z-1)ABwE), e5380:500 geaoooéz 80 JG0 TAR"I03w

Solution : -
let z=X+ly Amp(z-1)=7/2

Amp {x+iy -1 =77/2 :Amp{(x—1)+iy} =71/2

tan’t| Y |= /2= Y _sn7/2
x—-1 x-1 cosm/2

=x-1=0
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22 ArgZ ,Argz,ed SB[ LST,%T@oooé(Argzl+Argzz) ¥R H0B0

Solution : -

Arg(z)== = Argz =-71/5

aly

Argz,=ml3 Argz,=m/3

—3m+5m _2m
15 15

OArgz +Argz,=-m/5+ /3=

23. 30706 $00 & (2+20),-2-2 - 2J3+2/3i D00, BT o)
D8YB0 B3RS B0

Solution : -

A(2,2) B(-2.-2) C(-24/3, 2/3) oS 0c.

AB=\(2+2)" +(2+2) =32

BC = \/(—2\@, ¥ 2)2 +(2434 2)2 —\[32

CA= \/(—zﬁ - 2)2 + (2\@ - 2)2 =./32
AB=BC =CA

ABC 05303 8,25523°Q) DBYBIT 00
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25 eac;‘ocf $00 §7+7,7-7i DoY) © HEOD 8 X 00w IHB(POED
B B0 EHT DB A0D BHSw

Solution: -
A(7,7)B(7,-7) 0P o (7+7i)and (7-7i) oo Somdd oSodoTod.
AB 030855 80855)(7,0)

AB:ﬂ
7T-7

AB@TQ)Qﬂ
7-7

[ 0003 J°e0=0
002 V2BIPOED S $5EBe30 (y-0)=0(x-7)

y=0

25 30706 $00 & z+i,4+3i, 205,38 HoBIPHO BEBID)
8YB0 B3RS B

Solution: -

A(2,1) B(4,3)C(2/5)D(03)

AB=(452) +(3-1° =8  BC=(2-4) +(5-3) =8

CD=4/(0-2) +(3-5° =8  AD=,(0-2)+(3-1)° =8

AC=,/(4-2)" +(5-1) =4 BD =/(0-4)° +(3-3) =4
AB=BC =CD =AD and AC = BD

ABCD D000 WHBID)  JBYBII,00
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26 30706 $00 6"—2+7i,_73+%i,4—3i ,%(1+i) Hotoes TrowR K
D8YE0 B3RS B0

Solution ; -

AC=,/(4+2) +(-3-7) =136

AC=,[(4+2)" +(-3-7) =136
AB = BC = CD = AD and A 8D

ABCD 05000 T°0R0.K0 + DEYBIT, 0
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